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& ¥ = YAcws(vx) - YBsin (1%)
W' = —/6Asiniux) - 166 cas(9x) |
@ %"= = = [6Asinlix) -166ces(vx) — B (YAcos 9x - Y51 1)
= sin(ix) = €168 - 8A ) ces(4%) +(-I6A + REB) Ssin(4x)
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St ¢ ¢ | = -6/ + €8 .:‘_"—‘T—‘—-!-—-.“ o A="Vas
tos Yx 1 O = -\pa-3p => A=+38 | =y40B )8=Mo
® Ly = Wt ¥ = G+g e - sine) + q—*ﬂ-wﬁgj
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Find sol®4  Y'- ¥ = xe* with ini+al
wodifons  Y() = 3 and y) =17.

@ 2°-2= A(2-1) =0 2,=0 @ 2=]
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%j., = 7 C;*Ex

@ Y= AxeX + Be™  (overtps € 5o D)
Yo = AxTe’ + Bxe™ M chod/ work.
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e (AX+ Bx) _
e (Ax?+B8x )+ e* (ahAx + B8)
™ ( A+ (PA+B)X + E)

%" & (Ax*+BA+Ex+8) + eX(2Ax +(2A+8))
e [ Ax* + (YA+8)x + 2B + A
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@ %= = xe>
e*(Ax? + (YA+8)x + 2B+2R) — GX(AXE+(RH+B)X+E> =xe”

e ( x* [A-A]+x [4a+E -20-8) + s6+on - B)= Spa

f xe” . AR = | . A= Va .
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© Y= Y+ % = € +GeX+ L x%X - xe™
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brd note Y7 = GeX+ F(xeX+x%e*) — eX — xe”
thus Yle) = [ rays Sheb
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[Y = 2"+ L x%* -xe"}




